PA305 Assignment 1:

We have argued in class that both government and markets have the same task: to allocate scarce resources among alternative desirable ends.  We have also examined the physical and institutional characteristics of the resources in question that can help determine which sector (public or private) is best suited for its allocation. 

The following resources make important contributions to social well-being:

· Water (household, industrial, agricultural)

· Fire control (e.g. the service provided by firemen)

· Patented medicine

· Low phosphorous lake (i.e. phosphorous waste absorption capacity of the lake)

· Roads

· Waste water management

· Forests in a watershed: specific services include flood control, drought control, water purification, habitat, microclimate control, etc.

· Timber from Vermont’s forests
· Fish from Lake Champlain

· Granite 

· Public health

· Education

As best you are able, classify each of these according to excludability and rivalness.  This is not always as simple as it sounds, since one resource could potentially fall into any of these categories depending on its use.  For example, water used for irrigation is rival, and can be excludable or non-excludable depending on the existing property rights regime.  Water used for recreation (e.g. swimming) is non-rival, but again may be excludable or non-excludable.  We use the word ‘resource’ in this exercise, but actually mean ‘specific use of the resource’.  In some cases, such as education and public health, there may be no single right answer.  
1. Explain whether each resource is a market good, an open access resource, or a public good.  
2. Explain why markets fail to adequately provide non-excludable resources.

3. Explain why market provision of non-rival resources can be inefficient.

4. If some of your resources are non-excludable, can they be made excludable, and if so, how?  Would it be desirable to make them excludable, and if so, why?

5. Do you think the government should play a direct role in providing/allocating the resource, or should provision be left to the private sector?  
6. If the government should play a role, what role should it play, i.e. how could I improve allocation of the resource?  
Explain your answers carefully, but concisely.
